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B /IR EE 36 40 76
YRR Bt T 42 | 37 79
3 LB T4 41 41 82
4 JdbIR T 44 | 39 83
5 7 HE 40 | 43 83
6 B EF 43 | 41 84
7 W AR 42 42 84
8 gk —H 41 | 44 85
9 R ET 44 42 86
10 & EF 43 | 43 86
11 HIF 8B+ 41 | 45 86
12 #%& =T AT 40 87
13 $K #BF 44 43 87
14 R KF 45 | 43 88
15 ZH XEE 44 44 88
16 SR&E TF 43 | 45 88
17 #HE EETF 46 | 43 89
18 Ml FET 45 | 44 89
19 B/ 5hF 44 45 89
20 FE)Il & LF 42 | 47 89
21 %k A 41 48 89
22 Al BT 41 | 48 89
23 B TRT 41 | 48 89
24 P& Ex 45 | 45 90
26 WEE BT 45 | 45 90
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26 =4 VIUTXR 44 46 90
27 RO BT 45 | 46 91
28 H BT 42 49 91
29 LE ERF 51 41 92
30 EYH FT 47 45 92
31 fepk FE 45 | 47 92
32 FN OFE 44 48 92
3 &k BT 48 | 45 93
34 D T 47 46 93
3B ATk BEfE 45 | 48 93
36 FB KE 44 49 93
37 Rt FnF 47 | 47 94
38 AR EmT 46 48 94
39 tH#E FlF 46 | 49 95
40 KB #¥iT 50 46 96
41  taAR #8% 49 | 47 96
42 HEE BF 4T 49 96
43 fEHA o+ 50 | 47 97
44 HR B+ 45 52 97
45 BB BT 53 | 45 98
46 /NP EIT 46 52 98
47 BEL KF 48 | 51 99
48 EE BT 48 | 51 99
49  [LFs BEF 47 | 52 99
50 R ETF 55 45 100
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51 fRH FWwH 54 46 100

52 RA/ BETF 50 51 101

53 A\ K HEET 50 51 101

54 HRE fa T 49 53 102

55 FEA BT 53 50 103

56 /By BEE 53 53 106

57 EH %M 56 52 108

58 X b+ 54 56 110

59 WG Bttt 60 51 111
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